


Space For Rough Work Class-VII/01

[Time : 2.00 Hours] Full Marks  :  400

GOAL TALENT SEARCH EXAM (GTSE)

CLASS : VII (Sample Paper)

01. Which among the following is the smallest unit
of length ?
(1) decimetre (2) nanometre
(3) micrometre (4) kilometre

02. The displacement of a body is zero, then the
distance covered :
(1) is zero
(2) is not zero
(3) may or may not be zero
(4) cannot say

03. Which of these conditions is/are essential for a
shadow to be produced ?
(1) A light source (2) An opaque object
(3) A screen/surface (4) All of the above

04. Choose from the options 1, 2, 3 and 4 given in
Fig. the figure which shows the correct direction
of current.

(1) (2)

(3) (4)

05. Magnetism of a magnet is lost by :
(1) keeping in a box
(2) heating
(3) hammering
(4) both (2) and (3)

06. Velocity of object changes, if :
(1) its speed changes
(2) its direction changes
(3) either (1) or (2)
(4) none of these

1. fuEu esa l s dkSu yackbZ dh l cl s NksVh bdkbZ gS \
(1) Msl hehVj (2) uSuksehVj
(3) ekbØksehVj (4) fdyksehVj

2. fdl h oLrq dk foLFkki u ' kwU;  gS] rks r;  dh xbZ nwjh &
(1) ' kwU;  gSA
(2) ' kwU;  ugha gSA
(3) ' kwU;  gks Hkh l drk gS ; k ugha Hkh gks l drk gS A
(4) dgk ugha t k l drk A

3. fuEu esa dkSu&l h fLFkfr@fLFkfr; k¡ Nk; k mRi UUk djus ds fy,  vko' ; d
gS\
(1) i zdk' k Ï ksr (2) v i kjn' khZ oLrq
(3) i nkZ@l rg (4) mi ; qZDr l HkhA

4. fodYi  1] 2] 3 rFkk 4 esa fn,  x,  fp=kksa l s ml  fp=k dks pqusa t ks
fo| qr / kjk dh l gh fn' kk dks n' kkZrk gS&

(1) (2)

(3) (4)

5. pqEcd dh pqEcdRork [ kksrh gS&
(1) , d ckWDl  esa j[ kus l s
(2) xeZ djus l s
(3) gFkkSMs+ l s i zgkj djus l s
(4) (2) rFkk (3) nksuksa

6. fdl h oLrq dk osx i fjo£rr gksrk gS] ; fn
(1) bl dh xfr i fjofÙkZr gksrh gSA
(2) ml dh fn' kk i fjo£Ùkr gksrh gSA
(3) ; k rks (1) ; k (2)

(4) buesa l s dksbZ ughaA
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07. A tortoise and a hare compete in a race over a
course 3 km long. The tortoise crawls straight
and steadily at its maximum speed of 0.600 ms–1

towards the finish line. The hare runs at its
maximum speed of 1.20 ms–1 towards the goal
for 2.4 km and then stops to tease the tortoise.
The time taken by tortoise to reach the finish
line is _____
(1) 5 × 103 sec. (2) 2 × 103 sec.
(3) 104 sec. (4) 2.5 × 103 sec.

08. The distance covered by a body during a
10 minutes interval was noted after every
minute to be as follows :

Time in
minute

1 2 3 4 5 6 7 8 9 10

Distance 2m 4m 6m 8m 10m 16m 22m 24m 30m 32m

The motion of the body will be uniform :
(1) from 1 to 5 minute
(2) from 6 to 10 minute
(3) in both the above intervals
(4) None of these

09. Two students were asked to plot a distance-time
graph for the motion described by Table A and
Table B.

Table A

 
Distance moved (m) 0 10 20 30 40 50

Time (minutes) 0 4 8 12 16 20
Table B

 
Distance moved (m) 0 5 10 15 20 25

Time (minutes) 0 1 2 3 4 5
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The graph given in Figure is true for :
(1) A only (2) B only
(3) both A and B (4) neither A nor B

7. , d dNqvk vkSj , d [ kjxks' k 3 fdeh dh nkSM+ esa i zfrLi / kZ djrs
gSA dNqvk l h/ s vkSj fujarj l eki u js[ kk dh vksj v i uh egÙke xfr
0.600 ms–1 l s jsaxrk gSA [ kjxks' k 2.4 km ds y{;  dh vksj
v i uh egÙke xfr 1.20 ms–1 l s nkSM+rk gS vkSj rc dNq,  dks
i js' kku djus ds fy,  : drk gSA dNq,  }kjk l eki u js[ kk rd i gq¡pus
esa fy; k x; k l e;  gS _____
(1) 5 × 103 sec (2) 2 × 103 sec
(3) 104 sec (4) 2.5 × 103 sec

8. 10 feuV ds varjky ds nkSjku , d oLrq }kjk r;  dh xbZ nwjh i zR; sd
feuV ds ckn fuEukuql kj uksV dh xbZA

l e;  feuV esa 1 2 3 4 5 6 7 8 9 10

nwjh 2m 4m 6m 8m 10m 16m 22m 24m 30m 32m

oLrq dh xfr , dl eku gksxh &
(1) 1 l s 5 feuV rd
(2) 6 l s 10 feuV rd
(3) mQi j fn,  x,  nksuksa varjkyksa esa
(4) buesa l s dksbZ ugha A

9. l kj.kh A rFkk l kj.kh B }kjk of.kZr xfr ds fy,  nks Nk=kksa l s , d
nwjh l e;  xzki Q cukus ds fy,  dgk x; k gSA

l kj . kh A
r ;  nwjh (m) 0 10 20 30 40 50

l e;  ( feuV) 0 4 8 12 16 20

l kj . kh B
r;  nwjh (m) 0 5 10 15 20 25

l e;  ( feuV) 0 1 2 3 4 5
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l e;  ( feuV)
fp=k esa fn; k x; k xzki Q l gh gS&
(1) dsoy A ds fy, (2) dsoy B ds fy,
(3) A rFkk B nksuksa ds fy, (4) u rks A uk gha B ds fy,
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10. You are provided with a concave mirror, a convex
mirror, a concave lens and a convex lens. To
obtain an enlarged image of an object you can
use either
(1) concave mirror or convex mirror.
(2) concave mirror or convex lens.
(3) concave mirror or concave lens.
(4) concave lens or convex lens.

11. An erect and enlarged image can be formed by :
(1) only a convex mirror.
(2) only a concave mirror.
(3) only a concave lens.
(4) both convex lens and concave mirror.

12. Distance between Bholu’s and Golu’s house is
12 km. Bholu has to attend Golu’s birthday party
at 8 o’clock. He started from his home at 7 o’clock
on his bicycle and covered a distance of 8 km in
35 minutes. At that point he met Chintu and he
spoke to him for 5 minutes and reached Golu’s
birthday party at 8 o’clock. With what speed did
he cover the second part of the journey?
(1) 14.5 km/hr (2) 15 km/hr
(3) 12 km/hr (4) 13 km/hr

13. Paheli and Boojho measured their body
temperature. Paheli found her’s to be 99 °F and
Boojho recorded 37.5 °C. Which of the following
statement is true ?
(1) Paheli has a higher body temperature than

Boojho.
(2) Paheli has a lower body temperature than

Boojho.
(3) Both have equal body temperature.
(4) none

14. A laboratory thermometer A is kept 9 cm away
on the side of the flame while a similar
thermometer B is kept 9 cm above the flame of
a candle as shown in figure below.

(A)

(B)

Which of the thermometers, will show a greater
rise in temperature ?
(1) Thermometer, A
(2) Thermometer, B
(3) Both show equal rise in temperature
(4) None of these

10. vki dks , d vory ni .kZ] , d mÙky ni Z.k] , d vory ysal ] vkSj
, d mÙky ysal  fn; k x; k gSA fdl h oLrq dh , d foLr r̀  Nfo
(i zfrfcac) i zkIr djus ds fy,  vki  mi ; ksx dj l drs gSa&
(1) ; k rks vory ni .kZ ; k mÙky ni Z.k
(2) ; k rks vory ni .kZ ; k mÙky ysal
(3) ; k rks vory ni .kZ ; k vory ysal
(4) ; k rks vory ysal  ; k mÙky ysal

11. l h/ k vkSj vko£/ r i zfrfcac cuk; k t k l drk gS—
(1) dsoy mÙky ni .kZ }kjk
(2) dsoy vory ni Z.k }kjk
(3) dsoy vory ysal  }kjk
(4) mÙky ysal  rFkk vory ni Z.k nksuksa }kjk

12. Hkksyw vkSj xksyw ds ?kj ds chp dh nwjh 12 km gS A Hkksyw dks xksyw
dh t Uefnu i kVhZ esa 8 ct s ' kkfey gksuk gS A og v i us ?kj l s
7 ct s] v i uh l kbZfdy l s fudyrk gS] vkSj 35 min. esa 8 km
dh nwjh r;  djrk gSA ml  t xg og fpUVw l s feyk vkSj ml l s
5 min rd ckrsa dh] vkSj xksyw dh t Uefnu i kVhZ esa 8 ct s i gq¡p
x; k A ; k=kk ds nwl js Hkkx dks ml us fdl  jÝrkj l s r;  fd; k \
(1) 14.5 km/hr
(2) 15 km/hr
(3) 12 km/hr
(4) 13 km/hr

13. i gsyh vkSj cq>ks us v i uh ' kjhj dk rki eku eki k A i gsyh us v i uk
rki eku 99°F rFkk cq>ks us 37.5°C nt Z fd; k A buesa dkSu&l k
dFku l R;  gS \
(1) i gsyh ds ' kjhj dk rki eku cw>ks l s v f/ d gS A
(2) i gsyh ds ' kjhj dk rki eku cw>ks l s de gS A
(3) nksuksa ds ' kjhj dk rki eku l ekU;  gS A
(4) dksbZ ughaA

14. , d i z; ksx' kkyk FkekZehVj A dks ykS ds fdukjs l s 9 cm nwj j[ kk
t krk gS t cfd , d , sl s gh FkekZehVj B dks ykS l s 9 cm mQi j j[ kk
t krk gS t Sl k fd fuEu fp=k esa n' kkZ; k x; k gS A

(A)

(B)

buesa l s dkSu&l k FkekZehVj] rki eku esa v f/ d òf¼ dks n' kkZ, xk\
(1) FkekZehVj A
(2) FkekZehVj B
(3) nksuksa esa rki eku l eku : i  l s c<+sxk
(4) buesa l s dksbZ ugha
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15. Fig. shows an oscillating pendulum.

A
C O

B

Time taken by the bob to move from A to C is t1
and from C to O is t2. The half of the time period

T
2

 
 
 

 of this simple pendulum is :

(1) 2(t1 + t2) (2) (t1 + t2)

(3) 4(t1 + t2) (4) 1 2
3 (t t )
2



16. Look at Figure.

P Q

(A)

C E

(B)

D

The length of wire PQ in case of A is equal to the
diameter of the semicircle formed by the wire
CDE, in case B. One pin is attached to each wire
with the help of wax as shown in Figure. Which
pin will fall first ?
(1) Both pins fall at the same time
(2) Pin in case, B
(3) Pin in case, A
(4) Can’t say

17. In the given figure, two mirrors P and Q are
situated at an angle of 70° with each other and
a ray of light is incident on mirror P at an angle
of 65°. What is the value of angle A if the ray
again reflected by the mirror Q ?

70°

65°

A

Q

P

(1) 50° (2) 80° (3) 104° (4) 90°

15. fp=k esa , d nksyu djrk gqvk yksyd n' kkZ; k x; k gS A

A
C O

B

ckWc }kjk A l s C rd t kus esa t1 l e;  yxrk gS rFkk C l s O rd

t2 l e;  yxrk gS A bl  l jy yksyd ds l e; kof/  dk vk/ k T
2

 
 
 

gS&
(1) 2(t1 + t2) (2) (t1 + t2)

(3) 4(t1 + t2) (4)  1 2
3 t t
2



16. fp=k dks ns[ ksa &

P Q

(A)

C E

(B)

D

fLFkfr A esa PQ rkj dh yackbZ] fLFkfr B esa CDE rkj }kjk cuk, s
x,  v¼ZòÙk ds O; kl  ds yackbZ ds cjkcj gS A fp=kkuql kj ekse }kjk
i zR; sd rkj ds l kFk , d fi u t qM+k gqvk gS A dkSu&l k fi u i gys
fxjsxkA
(1) nksuksa fi u , d l kFk fxjsxk
(2) fLFkfr B esa fi u
(3) fLFkfr A esa fi u
(4) dgk ugha t k l drk

17. n' kkZ,  x,  fp=k esa] nks ni Z.k P rFkk Q , d nwl js l s l kFk 70° ds dks.k
i j fLFkr gSa rFkk ni Z.k P i j  65° dk dks.k cukrs gq,  i zdk' k dh
, d fdj.k vki frr gksrh gSA dks.k A  dk , d eku fdruk gksxk
; fn fdj.k ni Z.k Q l s i qu% i jkofÙkZr gksrh gS \

70°

65°

A

Q

P

(1) 50º (2) 80º (3) 104º (4) 90º
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18. Which of the following explains the properties:–

corrosive, sour, water soluble, present in citrus
fruits ?

(1) Acid (2) Base (3)Salt (4) Alkali

19. Which of the following types of medicines is used
for treating indigestion?

(1) Antibiotic (2)Antacid

(3) Antiseptic (4)Antipyretic

20. A test tube contains pink solution formed by
adding few drops of phenolphthalein to sodium
hydroxide solution. Few drops of sulphuric acid
are added to the test tube. It is observed that the
pink colour of the solution

(1) turns dark pink

(2) becomes colourless

(3) turns purple

(4) does not change its colour

21. Sodium hydroxide is not  used for neutralising
the hydrochloric acid present in the stomach
during acidity  because

(1) it is a weak base and cannot neutralise acid

(2) it is a strong base and it will burn the mouth
and walls of stomach

(3) it is not soluble in water hence cannot be
swallowed

(4) the acid present in stomach does not react
with sodium hydroxide

22. The reaction in which potassium hydroxide
reacts with sulphuric acid is called

(1) dilution of acid (2)neutralisation

(3) sulphonation (4) slaking

23. Fill in the blanks by choosing the options with
appropriate words.

When hydrochloric acid reacts with sodium
hydroxide, _____ and _____ are formed. The
process is accompanied by _____ of heat. The
resulting solution is ____ in nature.

(1) Salt, Water, Evolution, Neutral

(2) Salt, Water, Absorption, Neutral

(3) Salt, Water, Evolution, Acidic

(4) Salt, Water, Absorption, Basic

18. fl Vªl  i Qyksa esa fuEufyf[ kr esa dkSu] uk' kd] dM+ok] t y esa
?kqyu' khy xq.kksa dh O; k[ ; k djrk gS \
(1) v Ey (2) {kkj
(3) yo.k (4) , Ydyh

19. v i p ds bykt  esa fuEufyf[ kr esa fdl  i zdkj ds vkS"kf/  dk mi ; ksx
fd; k t krk gS \
(1) i zfrt Sfod (2) i zR; kEy
(3) jksxk.kq jks/ d (4) Tojuk' kh

20. , d i j[ kuyh esa xqykch foy; u gS t ks fi QukWYi QFksfyu ds dqN cw¡n
dks l ksfM; e gkbMªkWDl kbM ds ?kksy esa Mkydj cuk; k t krk gSA
l YÝ; wfjd vEy dh dqN cw¡nksa dks VsLV V~; wc esa Mkyk t krk gS A , sl k
ns[ kk x; k fd foy; u dk xqykch jax &
(1) xgjs xqykch jax esa cny t krk gS A
(2) jaxghu gks t krk gS A
(3) cSxuh jax esa cny t krk gS A
(4) bl ds jax esa dksbZ i fjoÙkZu ugha gksrk gS A

21. vEyrk ds nkSjku i sV esa ekSt wn gkbMªksDyksfjd vEy dks mnkl hu
djus ds fy,  l ksfM; e gkbMªkWDl kbM dk mi ; ksx ugha fd; k t krk gS]
D; ksafd&
(1) ; g , d nqcZy {kkj gS vkSj vEy dks mnkl hu ugha djrk gS A
(2) ; g , d i zcy {kkj gS vkSj ; g eq¡g vkSj i sV dh nhokj esa t yu

mRi Uu djsxk A
(3) ; g t y esa ?kqyu' khy ugha gS bl fy,  fuxyk ugha t k l drk A
(4) i sV esa mi fLFkr vEy] l ksfM; e gkbMWªkDl kbM ds l kFk i zfrfØ; k

ugha djrk gS A
22. og v fHkfØ; k ft l esa i ksVSf' k; e gkbMªkWDl kbM] l YÝ; wfjd vEy ds

l kFk v fHkfØ; k djrk gS og dgykrk gS &
(1) vEy dk ruqdj.k (2) mnkl huhdj.k
(3) l Yi Qksuhdj.k (4) pwuk' keu

23. mfpr ' kCn okys fodYi  dks pqudj fjDr LFkkuksa dks Hkjsa A
t c gkbMªksDyksfjd vEy] l ksfM; e gkbMªkWDl kbM ds l kFk v fHkfØ; k
djrk gS rks] __________ vkSj __________ curk gS A ; g
i zfØ; k m"ek ds __________ ds l kFk gksrh gS A i zkIr ?kksy
__________ i zÑfr dk gSA
(1) yo.k] t y] mRl ft Zr] mnkl hu
(2) yo.k] t y] vo' kks"k.k] mnkl hu
(3) yo.k] t y] mRl ft Zr] vEyh;
(4) yo.k] t y] vo' kks"k.k] {kkjh;
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24. Which of the following diagram (s) represents
alkalis and bases in the correct form?

AlkalisBases

Bases

Alkalis

(i) (ii)

Alkalis

BasesAlkalisBases

(iii) (iv)

(1) (i) (2) (iii)
(3) (i) and (iv) (4) (iii) and (iv)

25. Kartik performed the following experiment by
taking few solutions and phenolphthalein
indicator. Identify p, q and r in his experiment.

Phenolphthalein

p

Add q Add r

Pink solutionColourless
solution

Pink solution

(1) p   Acid, q   Acid, r   Base
(2) p   Base, q   Acid, r   Base
(3) p   Base, q   Base, r   Acid
(4) p   Base, q   Acid, r   Acid.

26. Acid rain can cause damage to buildings, soil
and plants. What do you think the acids come
from?
(1) Calcium oxide and carbon dioxide dissolve in

rain water to produce acids.
(2) Carbon dioxide and sulphur dioxide  dissolve

in rain water to produce acids.

(3) Sulphuric acid and carbon monoxide dissolve
in rain water to produce acids.

(4) Chlorine and fluorine gases dissolve in rain
water to produce acids.

24. fuEufyf[ kr vkjs[ kksa esa dkSu , Ydyh , oa {kkjksa dks l gh : i  esa
n' kkZrk gS \

{kkj

, Ydyh

(i) (ii)

{kkj , Ydyh

(iii) (iv)

{kkj , Ydyh {kkj

, Ydyh

(1) (i) (2) (iii)
(3) (i) , oa (iv) (4) (iii) , oa (iv)

25. dkfrZd dqN ?kksyksa vkSj fi QukWYi QFksfyu l wpd }kjk fuEufyf[ kr
i jh{k.k djrk gS A bl  i jh{k.k esa] p, q rFkk r dks pqusa &

fi QukWYi QFksfyu

p

r   feyk; k

xqykch ?kksyjaxghu ?kksyxqykch ?kksy

q   feyk; k

(1) p   vEy, q   vEy, r   {kkj
(2) p   {kkj, q   vEy, r   {kkj
(3) p   {kkj, q   {kkj, r   vEy
(4) p   {kkj, q   vEy, r   vEy

26. vEy o"kkZ] Hkou] feV~Vh vkSj i kS/ ksa dks {kfrxzLr dj l drk gS A
vEy dgk¡ l s vkrk gS bl ds ckjs esa vki  D; k l ksprs gSa \
(1) dSfYl ; e vkWDl kbM vkSj dkcZu MkbvkWDl kbM o"kkZ t y esa

?kqydj vEy cukrs gSa A
(2) dkcZu MkbvkWDl kbM vkSj l Yi Qj MkbvkWDl kbM o"kkZ t y esa

?kqydj vEy cukrs gSa A
(3) l YÝ; qfjd vEy vkSj dkcZu eksuksvkWDl kbM o"kkZ t y esa ?kqydj

vEy cukrs gSa A
(4) Dyksjhu vkSj Ýyksjhu xSl sa o"kkZ t y esa ?kqydj vEy cukrs gSaA
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27. The fizzing out of gas on opening a soda water
bottle is because of ____.

(1) increase in the pressure and splitting of gas
molecules

(2) decrease in pressure and increase in
solubility of gas

(3) decrease in pressure and solubility of gas

(4) increase in pressure of gas  leading to
evolution of new product.

28. Noble metals are dissolved in–

(1) Conc. HNO3 (2)Conc. HCl

(3) Conc. H2SO4 (4)Aqua - regia

29. A base can be prepared by the reaction
between.....

(1) an active non-metal and water

(2) a gas and water

(3) a sulphide and water

(4) an active metal and water.

30. The change of state of a substance from solid to
liquid and liquid to gas is

(1) a physical change

(2) a chemical change

(3) combination of a physical and chemical
changes

(4) sometimes physical change and sometimes
chemical change.

31. Galvanisation is a process in which

(1) iron is coated on zinc metal

(2) zinc and iron are mixed in molten state

(3) zinc is coated as a layer on iron

(4) carbon is mixed with iron and heated.

32. What kind of change is involved when a sheet of
paper is shredded?

(1) An irreversible chemical change

(2) A reversible chemical change

(3) An irreversible physical change

(4) A reversible physical change

27. l ksMk t y ds cksry dks [ kksyus i j xSl ] ________ ds dkj.k ckgj
fudyrh gS A
(1) nkc esa òf¼ vkSj xSl  ds v .kqvksa ds VwVus l s A
(2) nkc esa deh vkSj xSl  ds ?kqyu' khyrk esa òf¼
(3) nkc vkSj xSl  ds ?kqyu' khyrk esa deh
(4) xSl  ds nkc esa òf¼ l s u; k mRi kn mRi Uu gksus l s

28. vkn' kZ / krq, ¡ ?kqyrh gSa &
(1) l kUnz HNO3 esa
(2) l kUnz HCl esa
(3) l kUnz H2SO4 esa
(4) , Dok jsft ; k esa

29. {kkj _______ ds chp v fHkfØ; k }kjk cuk; k t k l drk gS A
(1) l fØ;  v / krq vkSj t y
(2) xSl  vkSj t y
(3) l Yi QkbM vkSj t y
(4) l Øh;  / krq vkSj t y

30. fdl h i nkFkZ dh voLFkk] Bksl  l s nzo vkSj nzo l s xSl  esa cnyko gS&

(1) HkkSfrd i fjoÙkZu

(2) jkl k; fud i fjoÙkZu

(3) HkkSfrd vkSj jkl k; fud i fjoÙkZu dk l a; kst u

(4) dHkh&dHkh HkkSfrd i fjoÙkZu vkSj dHkh&dHkh jkl k; fud i fjoÙkZu

31. xSYosuhdj.k , d i zfØ; k gS ft l esa &

(1) t Lrk / krq i j yksgs dh i jr  p<+kbZ t krh gSA

(2) t Lrk vkSj yksgs dks nzo voLFkk esa feyk; k t krk gSA

(3) t Lrk dks yksgs i j i jr  dh r jg ysfi r fd; k t krk gSA

(4) dkcZu dks yksgs ds l kFk feyk; k t krk gS vkSj xeZ fd; k t krk gSA
32. t c dkxt  ds ' khV ds VqdM+s&VqdM+s fd; s t krs gSa rks fdl  i zdkj dk

i fjoÙkZu gksrk gS \
(1) v i fjoÙkZuh;  jkl k; fud i fjoÙkZu
(2) i fjoÙkZuh;  jkl k; fud i fjoÙkZu
(3) v i fjoÙkZuh;  HkkSfrd i fjoÙkZu
(4) i fjoÙkZuh;  HkkSfrd i fjoÙkZu
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33. The simplest method of preventing rusting of
iron is to coat it with oil, grease or paint. The
reason being

(1) this layer does not allow iron to come in
contact with air

(2) this layer does not allow iron to come in
contact with water

(3) this layer does not allow iron to come in
contact with air and water

(4) this layer does not allow iron to come in
contact with outside heat.

34. Which of the following changes is wrongly
identified?

(1) Eating of dosa in breakfast – Chemical
change

(2) Cutting of wood to make furniture – Chemical change

(3) Making  fruit custard from milk – Chemical
change

(4) Baking a cake – Chemical change

35. Shape of stomach is

(1) J-shaped (2) M-shaped

(3) I-shaped (4) U-shaped

36. ORS stands for

(1) Oral Rehydration solution

(2) Oral Rehydration sugar

(3) Oral Regeneration solution

(4) All of the above

37. In Ruminants, partially digested food is called

(1) Bolus (2) Cud

(3) Both (1) and (2) (4) Chyme

38. Widest part of Alimentary canal is

(1) Liver (2) Pancreas

(3) Stomach (4) Small Intestine

39. The microorganisms which convert the dead
plants and animals to humus are known as

(1) Parasitic (2) Earthworm

(3) Decomposers (4) All of the above

33. yksgs esa t ax yxus l s cpkus dk l k/ kj.k r jhdk bl i j rsy] xzhl  ; k
i saV dk i jr  p<+kuk gS A bl dk dkj.k gS &

(1) ; g i jr  yksgs dks ok; q ds l ai dZ esa ugha vkus nsrh gS A

(2) ; g i jr  yksgs dks i kuh ds l ai dZ esa ugha vkus nsrh gS A
(3) ; g i jr  yksgs dks ok; q vkSj i kuh ds l Ei dZ esa ugha vkus nsrh

gSA
(4) ; g i jr  yksgs dks ckg~;  mQ"ek ds l ai dZ esa ugha vkus nsrh gS A

34. fuEufyf[ kr i fjoÙkZuksa esa dkSu xyr p; u gS \
(1) ukLrs esa Mksl k [ kkuk & jkl k; fud i fjoÙkZu

(2) ydM+h dkVdj i QuhZpj cukuk & jkl k; fud i fjoÙkZu
(3) nw/  l s i zQwV dLVMZ cukuk & jkl k; fud i fjoÙkZu

(4) dsd dk i Qwyuk & jkl k; fud i fjoÙkZu

35. vek' k;  dk vkdkj gksrk gS&
(1) J- vkdkj (2) M- vkdkj

(3) I- vkdkj (4) U- vkdkj
36. ORS ds fy,  fy[ kk t krk gS&

(1) vksjy fjgkbMªs' ku ' kksY; w' ku
(2) vksjy fjgkbMªs' ku ' kwxj

(3) vksjy fjt susjs' ku ' kksY; w' ku]
(4) mi ; qZDr l HkhA

37. t qxkyh djus okys i ' kqvksa esa] vkaf' kd : i  l s i ps gq,  Hkkst u dks
dgk t krk gS&
(1) cksyl (2) i kxqj
(3) (1)  rFkk (2)  nksuksa (4) dkbe

38. vkgkj uky dk l cl s cM+k fgLl k gS&
(1) ; Ñr (2) vXU; k' k;
(3) vek' k; (4) NksVh vkar

39. og l w{et ho t ks er̀ i kS/ s vkSj i ' kqvksa dks [ kkn esas i fjofÙkZr djrk
gS] dgykrk gS&
(1) i j i ks"kh (2) daspqvk

(3) v i ?kVd (4) mi ; qZDr l Hkh
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40. Identify the correct labeling

(a)

(b)

(c)

(d)

(1) a - stigma, d-ovary (2) c-ovary, a-stigma

(3) c-ovule, d-ovary (4) a-anther

41. Glucose  Alcohol + CO2 + Energy

given equation is an

(1) Aerobic respiration

(2) Anaerobic respiration

(3) Both (1) and (2)

(4) None of the these

42. Tracheal system is present in

(1) Frog (2) Insect

(3) Sponge (4) All of the above

43. In ruminants like cattle, deer, bacteria is
present in ...................

(1) Abomasum

(2) Omasum

(3) Reticulum
(4) Rumen

44. ORS is

(1) Solution of water with a pinch of salt and
sugar dissolved in it

(2) Solution of water with a pinch of salt

(3) Solution of water with a pinch of sugar

(4) Mixture of sugar and salts

40. l gh ukekadu dks pqusa&

(a)

(b)

(c)

(d)

(1) a- ofÙkZdkxz] d - vaMk' k; (2) c - vaMk' k; ] a - ofÙkZdkxz
(3) c - cht kaM] d - vaMk' k; (4) a - i jkxdks' k

41. Xywdkst   , Ydksgy $ CO2 $ mQt kZ
fn; k x; k l ehdj.k gS
(1) ok; oh;  ' ol u
(2) vok; oh;  ' ol u
(3) (1)  rFkk (2)  nksuksa
(4) buesa l s dksbZ ugha

42. ' okl uyh i ¼fr mi fLFkr gS&
(1) es<+d esa (2) dhVksa esa
(3) Li at h esa (4) mi ; ZqDr l Hkh

43. t qxkyh djusokys i ' kqvksa t Sl s xk; &cSy] fgj.k] buds t hok.kq ------
----------------- esa mi fLFkr gksrs gSaA
(1) t BjkUr
(2) r r̀h;  vek' k;
(3) f}rh;  vek' k;
(4) prqFkZ vek' k;

44. ORS gS&
(1) t y esa , d pqVdh ued vkSj phuh dk ?kksy
(2) t y ds l kFk , d pqVdh ued dk ?kksy
(3) t y ds l kFk , d pqVdh phuh dk ?kksy
(4) phuh vkSj ued dk feJ.k
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45. The weather reports are prepared by

(1) Meteorological department of government
(2) Mythology department of government
(3) Methodology department of government
(4) All of the above

46. The pitcher like or Jug like structure in
Insectivorous plant is the modified part of

(1) flower (2) leaf

(3) stem (4) Root

47. Which is an association of alga and a fungus

(1) Leech (2) Mycorrhiza

(3) Lichens (4) Alnus

48. Match the following

I. II.

(i) Human (a) trachea system

(ii) Cockroach (b) Lungs

(iii) Earthworm (c) Gills

(iv) Fish (d) Skin

(i) (ii) (iii) (iv)

(1) (b) (a) (c) (d)

(2) (b) (a) (d) (c)

(3) (a) (b) (c) (d)

(4) (b) (c) (d) (a)

49. (i) The vascular tissue for the transport of water
and nutrients in the plant is called phloem

(ii) Transpiration is the process of evaporation
of H2O through the stomata.

Choose the correct option for the above
statement.

(1) (i) and (ii) are correct

(2) Only (i) is correct

(3) (i) is wrong and (ii) is correct

(4) (i) and (ii) both are wrong

50. Human urine consists of

(1) 95% H2O

(2) 2.5% urea

(3) 2.5% other waste product

(4) All of the above waste product

45. ekSl eh l wpuk rS; kj dh t krh gS&
(1) l jdkj ds ekSl e foHkkx }kjk
(2) l jdkj ds i kSjkf.kd foHkkx }kjk
(3) l jdkj ds fof/  foHkkx }kjk
(4) mi ; ZqDr l Hkh

46. dhVHk{kh i kS/ ksa esa fi pj dh rjg ; k t x dh rjg dh jpuk] bl  Hkkx
dk : i kUrj.k gS&
(1) i q"i (2) i Ùkh (3) ruk (4) t M+

47. vyxh vkSj i Qaxl  dk l axr gS
(1) yhp (2) ekbdksjkbT+kk
(3) ' kSoky (4) , yul

48. fuEufyf[ kr dk feyku djsa&
I. II.

(i) euq"; (a) ' okl uyh i ¼fr
(ii) frypV~Vk (b) i Qsai QM+k
(iii) dsapqvk (c) xyi QM+k
(iv) eNyh (d) Ropk

(i) (ii) (iii) (iv)
(1) (b) (a) (c) (d)
(2) (b) (a) (d) (c)
(3) (a) (b) (c) (d)
(4) (b) (c) (d) (a)

49. (i) i kS/ ksa esas t y rFkk i ks"kdksa ds fy,  l aoguh mÙkd Ýyks, e
dgykrh gSA

(ii) ok"i ksRl t Zu] ja/ z ds }kjk H2O ds ok"i .k dh , d i zfØ; k gSA
mi ; qZDr dFkuksa ds fy,  l gh fodYi  pqusaA
(1) (i) rFkk (ii) l gh gSaA
(2) dsoy (i) l gh gSA
(3) (i) xyr gS rFkk (ii) l gh gSA
(4) (i) vkSj (ii) nksuksa xyr gSSA

50. ekuo ew=k esa gksrk gS
(1) 95% H2O

(2) 2.5% ; wfj; k
(3) 2.5% vU;  v i f' k"V i nkFkZ
(4) mi ; qZDr l Hkh mi f' k"V i nkFkZ
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51. x 510 1
8

 , y 810
13

 . Find the exact value of

10(x + y).

(1) 0 (2)
169
64 (3) 10 (4) 1

52. If a2b = 10 and ab2 = 20. Find the value of 
a
b

(1)
1
6 (2)

1
2 (3) 0 (4)

1
4

53. If a = 1 + 2n and b = 1 + 2–n, then b = ?

(1)
a 2
a 1

 (2)

a
a 1 (3)

a 1
a 1

 (4)

a 2
a 1



54. Find the remainder when y3 + y2 – 2y + 5 is
divided by y – 5.

(1) 145 (2) 210 (3) 220 (4) 440

55. If AC and EF are parallel, find ADB.

140°

60°

A B C

DE F

(1) 60° (2) 100° (3) 80° (4) 40°

56. Two chimneys 18 cm and 13 cm high stand
upright in a ground. If their feet are 12 cm apart,
then the distance between their tops is :

(1) 5 (2) 31 (3) 18 (4) 13

57. If A : An isosceles triangle is right angled.

R : A = B = 45° and C = 90°.

Which of the following statement is true ?

(1) A is true and R is not the correct explanation
of A.

(2) A is false.

(3) A is true and R is correct explanation of A.

(4) None of these

51. x 510 1
8

 , y 810
13

  , 10(x+y) dk ; FkkFkZ eku Kkr djsaA

(1) 0 (2)
169
64 (3) 10 (4)1

52. ; fn a2b = 10 rFkk ab2 = 20. 
a
b  dk eku Kkr djsaA

(1)
1
6 (2)

1
2 (3) 0 (4)

1
4

53. ; fn a = 1 + 2n rFkk b = 1 + 2–n rks b = ?

(1)
a 2
a 1

 (2)

a
a 1 (3)

a 1
a 1

 (4)

a 2
a 1



54. t c 3 2y y 2y 5    dks y – 5 l s foHkkft r fd; k t krk gS rks
' ks"k Kkr djsa A
(1) 145 (2) 210 (3) 220 (4)440

55. ; fn AC vkSj EF l ekukUrj gSa] rks ADB Kkr djsa

140°

60°

A B C

DE F

(1) 60° (2) 100° (3) 80° (4) 40°

56. 18cm vkSj 13 cm mQ¡pkbZ dh nks fpefu; k¡ t ehu i j l h/ s [ kM+h
gSaA ; fn muds vk/ kj 12cm dh nwjh i j gSa rks muds ' kh"kksZa ds chp
dh nwjh gSµ
(1) 5 (2) 31 (3) 18 (4)13

57. ; fn A : , d l ef}ckgq f=kHkqt  l edks.kh;  gskrh gSA
R : A = B = 45° rFkk C = 90°

fuEufyf[ kr esa dkSu l k dFku l gh gS\
(1) A l R;  gS vkSj R, A dk l gh o.kZu ugha gSA
(2) A v l R;  gSA
(3) A l R;  gS vkSj R, A dk l gh o.kZu gSA
(4) buesa l s dksbZ ughaa
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58. The centroid of a triangle is the point where :

(1) The right bisectors of the sides of the triangle
meet.

(2) The altitudes meet.

(3) The medians meet.

(4) The bisectors of the angles of the triangle
meet.

59. 56% is equal to the decimal number-

(1) 560 (2) 0.56 (3) 56.0 (4) 0.056

60. Rhombus has a perimeter of 28 cm., then what
will be the length of its side.

(1) 7 cm (2) 4 cm (3) 16 cm (4) 14 cm

61. For what value of k, we have 7x2 – 5x + k = –4
given that x = –2.

(1) 22 (2) –42 (3) –22 (4) 42

62. A farmer brought 1605 tomatoes to sell at a

farmer’s market. He sold 
133 %
3  of them at the

end of the day. How many tomatos were unsold?

(1) 1080 (2) 935

(3) 1070 (4) 545

63. If m = (–1)2000 and n = (–1)2002, then find the

value of 
m n
n m

 .

(1) –1 (2) 1 (3) 2 (4) 4002
64. By what number should (–12)–1 be divided so that

quotient be 
12

3


 
 
 

 ?

(1)
1

18 (2)
1

18


(3)
2
3 (4)

1
15

65.
2x y 1
x 2y 2

 
  

, then find the value of 
3x y
3x y

 
  

 :

(1)
1
5 (2)

3
5

(3)
5
7

(4)
6
7

58. fdl h f=kHkqt  dk dsUnzd og fcUnq gS t gk¡ &
(1) f=kHkqt  dh Hkqt kvksa ds l efZ}Hkkx feyrs gSaA
(2) ' kh"kZ feyrs gaSA
(3) ekfè; dk, ¡ feyrh gSaA
(4) f=kHkqt  ds dks.kksa ds l ef}Hkkx feyrs gSA

59. 56% n' keyo l a[ ; k ds cjkcj gS&
(1) 560 (2) 0.56 (3) 56.0 (4)0.056

60. fo"kedks.k dh i fjferh 28cm gS rks bl ds Hkqt kvksa dh yEckbZ D; k
gksaxh µ
(1) 7 cm (2) 4 cm (3) 16 cm (4)14 cm

61. k ds fdl  eku ds fy,  gesa 27x 5x k 4    ]
fn; k x; k gS fd x = – 2

(1) 22 (2) –42 (3) –22 (4)42

62. , d fdl ku 1605 VekVjksa dks] fdl ku ds ckt kj esa csprk gSA og

fnu ds vUr rd bl dk 133 %
3 csp nsrk gSA fdrus VekVj cps

t ks ugha fcds\
(1) 1080 (2) 935
(3) 1070 (4) 545

63. ; fn m = (–1)2000 vkSj n = (–1)2002 rks m n
n m

  dk eku

Kkr djsa
(1) –1 (2) 1 (3) 2 (4)4002

64. (–12)–1 dks fdl  l a[ ; k l s foHkkft r fd; k t kuk pkfg,  fd

Hkkxi Qy 
12

3


 
 
 

gks\

(1)
1

18 (2)
1

18


(3)
2
3 (4)

1
15

65.
2x y 1
x 2y 2

    
 rks 

3x y
3x y

 
  

 dk eku Kkr djsaA

(1)
1
5 (2)

3
5

(3)
5
7

(4)
6
7



Space For Rough Work Class-VII/013

66. If a2 + b2 = 117 and ab = 54, then find the value

of 
a b
a b



(1)
5
3 (2)

3
5 (3) 5 (4) 9

67.
1 41 21 19 9
6
   

(1) 4 (2) 6 (3) 9 (4) 1

68. How many prime number’s are there in
67 × 355 × 1112

(1) 42 (2) 36 (3) 45 (4) 28

69. Evaluate : 
3 41
2 3481 9 27



 

(1) 1 (2) 3 (3) 9 (4)
1
3

70. In a division sum, the divisor is ten-times the
quotient and five times the remainder. If the
remainder is 46 then find the dividend.

(1) 5388 (2) 5343 (3) 5336 (4) 5391

71. The value of [(–4) × (–9) × (–25)]  [(–2) ×  (–3) × (–5)]
is :

(1) 10 (2) 20 (3) 30 (4) 40

72. 3 × 3 × 3 × 3 × 3 .......... 200 times can be written
as :

(1) 200 × 3 (2) 200 + 3

(3) (200)3 (4) 3200

73. In the given figure, PA   AB, QB   AB and
OAP OBQ   , then

P

A

O B

Q

(1) PA = OB (2) AP = QB

(3) OP = BQ (4) OA = OQ

66. ; fn a2 + b2 = 117 rFkk ab = 54 rks a b
a b

 dk eku Kkr djsaA

(1)
5
3 (2)

3
5

(3) 5 (4) 9

67.
1 41 21 19 9
6
   

(1) 4 (2) 6 (3) 9 (4) 1

68. 67 × 355 × 1112 esa fdruh vHkkT;  l a[ ; k, ¡ gksxh\

(1) 42 (2) 36

(3) 45 (4) 28

69. gy djsa % 1/4 3/2 4/381 9 27 

(1) 1 (2) 3 (3) 9 (4)
1
3

70. fdl h foHkkt u i z' u esa] Hkkt d] Hkkxi Qy l s 10 xq.kk v f/ d gS vkSj
' ks"k l s 5 xq.kk v f/ d gSA ; fn ' ks"k 46 gS rks HkkT;  dks Kkr djsaA

(1) 5388 (2) 5343 (3) 5336 (4)5391

71. [(–4) × (–9) × (–25)]  [(–2) ×  (–3) × (–5)] dk eku gS&

(1) 10 (2) 20 (3) 30 (4)40

72. 3 × 3 × 3 × 3 × 3 .......... 200 ckj dks bl  i zdkj fy[ kk t k
l drk gSA
(1) 200 × 3 (2) 200 + 3

(3) (200)3 (4) 3200

73. fn,  x,  fp=k esa] PA AB ] QB AB  r Fkk
OAP OBQ   rks

P

A

O B

Q

(1) PA = OB (2) AP = QB

(3) OP = BQ (4) OA = OQ
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74. An organization sent out 420 invitations for a
fund-raiser function. If the people invited, 315
attended. What percent of the people invited
attended the fund-raiser ?

(1) 33% (2) 25% (3) 43% (4) 75%

75. If 3 x 12 19   find the value of x is :

(1) 6871 (2) 6072 (3) 6889 (4) 5080

76. The average age of 3 girls is 20 years and their
ages are in proportion 3 : 5 : 7, the age of youngest
girl is _________ .

(1) 8 years 3 months (2) 6 years 8 months

(3) 12 years (4) 20 years

77. Write as an algebraic expression of number of
hours in d weeks.

(1) 168 + d (2)
168

d (3)
d
60 (4) 168 d

78. A train 270 m long is moving with a speed of
25 km/h, in what time will it cross a man
coming from the opposite direction with a speed
of 2 km/h in which the train is moving ?

(1) 36 sec. (2) 32 sec. (3) 28 sec. (4) 24 sec.

79. Which property will you use to simplify the
following expression 3(y + 2) ?

(1) Commutative property

(2) Associative property

(3) Zero product property

(4) Distributive property.

80. In the given figure, AM BC  and AN is the
bisector of A. If ABC = 70° and ACB = 20°
then MAN = ?

A

70°
B M N C

20°

(1) 20° (2) 25° (3) 15° (4) 30°

74. , d l axBu] i aQM-jkbt j l ekjksg ds fy,  420 vkea=k.k Hkst rk gS
; fn vkeaf=kr yksxksa esa 315 mi fLFkr gaS] rks i aQM-jkbt j esa cqyk,  x,
yksxksa dh mi fLFkfr dh i zfr ' krrk D; k gS\

(1) 33% (2) 25% (3) 43% (4)75%

75. ; fn 3 x 12 19  , x dk eku Kkr djsa

(1) 6871 (2) 6072 (3) 6889 (4)5080

76. 3 yM+fd; ksa dh vkSl r vk; q 20 o"kZ gS vkSj muds mezksa dk vuqi kr
3 : 5 : 7 gS rks l cl s NksVh yM+dh dk mez _______ gSA

(1) 8 o"kZ 3 eghuk (2) 6 o"kZ 8 eghuk

(3) 12 o"kZ (4) 20 o"kZ

77. d l Irkgksa esa ?kaVksa dh l a[ ; k dk cht xf.krh;  v fHkO; fDr fy[ ksaA

(1) 168 + d (2)
168

d (3)
d
60 (4) 168 d

78. 270 m yEch Vsªu] 25 km/h dh xfr l s py jgh gS] foi jhr
fn' kk l s 2 km/h dh xfr l s vkrs gq,  O; fDr dks fdl  l e;  ØWkl
djsxh ft l esa Vsªu xfr dj jgh gS\
(1) 36 l sdaM (2) 32 l sdaM
(3) 28 l sdaM (4) 24 l sdaM

79. fuEufyf[ kr O; at d 3(y +2) dks l jy djus ds fy,  vki  fdl
xq.k dk mi ; ksx djsaxs\
(1) Øe&fofues; d xq.k/ eZ
(2) l kgp; Z xq.k/ eZ
(3) ' kwU; &xq.kd xq.k/ eZ
(4) forjd xq.k/ eZ

80. fn,  x,  fp=k esa] AM  BC, rFkk AN, A dk l ef}Hkkx gSA ; fn
ABC 70    rFkk ACB 20    rks MAN ? 

A

70°
B M N C

20°

(1) 20° (2) 25° (3) 15° (4) 30°
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81. Six books P, Q, R, S, T and U are placed side by
side. R, Q and T have blue covers and other books
have red covers. Only S and U are new books
and the rest are old, P, R and S are law reports,
the rest are Gazetteers. Which two books are
old Gazetteers with blue covers ?

(1) Q and R (2) Q and T

(3) Q and U (4) T and U

82. How many pairs of letters are there in the word
PRIMOGENITURE which have the same number
of letters between them as in English alphabet ?

(1) Nine (2) Four

(3) Seven (4) Ten

83. Which number will replace the question mark,
if the same rule is followed in all the three
figures ?

8
6 14

4

10 18
8 4

6 614 ?

8 5

14 1122 15

(1) 8 (2) 4

(3) 10 (4) 6

84. If 'P + Q' means 'P is the brother of Q'; 'P × Q'
means 'P is the father of Q'; 'P ÷ Q' means 'P is
the mother of Q'; which of the following would
mean 'R is the son of M' ?

(1) M × S × R (2) M + R × S

(3) M ÷ R × S (4) M × R ÷ S

85. Which of the following Venn diagrams best
illustrates the relationship amongst, "Sun, Moon
and Stars" ?

(1) (2)

(3) (4)

81. Ng i qLrdksa P, Q, R, S, T rFkk U dks vxy&cxy j[ kk x; k gSA
R, Q vkSj T ds uhys doj gSa vkSj vU;  i qLrdksa esa yky doj gSA
dsoy S vkSj U ubZ fdrkcsa gSa vkSj ckdh i qjkuh gS] P, R vkSj S
dkuwu dh fj i ksVZ gS vkSj ckdh xst sVl Z gS A dkSu nks fdrkcsa uhys doj
okys i qjkus xt sVl Z gSa \

(1) Q vkSj R (2) Q vkSj T

(3) Q vkSj U (4) T vkSj U

82. ' kCn PRIMOGENITURE esa v {kjksa ds fdrus ; qXe gSa t ks vaxzst h
o.kZekyk esa muds chp v {kjksa dh l a[ ; k ds l eku gS \

(1) ukS (2) pkj

(3) l kr (4) nl

83. dkSu l h l a[ ; k i z' uokpd fpÉ dks foLFkkfi r djsxh] ; fn rhuksa fp=kksa
esa l eku fu; e yxk; k t krk gS \

8
6 14

4

10 18
8 4

6 614 ?

8 5

14 1122 15

(1) 8 (2) 4

(3) 10 (4) 6

84. ; fn 'P + Q' dk eryc P, Q dk HkkbZ gS] 'P × Q' dk eryc P,
Q dk fi rk gS_ 'P ÷ Q' dk eryc P, Q dh ek¡ gS] fuEufyf[ kr
esa fdl dk eryc R, M dk csVk gS \

(1) M × S × R (2) M + R × S

(3) M ÷ R × S (4) M × R ÷ S

85. fuEufyf[ kr osu vkjs[ k esa dkSu l̂ w; Z] pk¡n vkSj rkjksa* ds chp l cl s
vPNk l aca/  n' kkZrk gS \

(1) (2)

(3) (4)



Space For Rough Work Class-VII/016

86. Count the number of triangles in the given
figure.

(1) 20 (2) 22

(3) 23 (4) None of these

87. Find the figure from the options which will
continue the same series as established by the
given problem figures.

Problem Figure

(1) (2)

(3) (4)

88. If 7  1 = 64;
3  9 = 144
What is the value of 5  6 ?
(1) 22 (2) 55
(3) 66 (4) 121

89. Sunita's school bus is facing North when it
reaches her school. After starting from Sunita's
house, it turns right twice and then left before
reaching the school. What direction was the bus
facing when it left the bus stop in front of Sunita's
house ?
(1) North (2) South
(3) East (4) West

86. fn,  x,  fp=k esa f=kHkqt ksa dh l a[ ; k dh x.kuk djsa &

(1) 20 (2) 22

(3) 23 (4) buesa l s dksbZ ugha
87. fodYi  l s mu fp=k dks Kkr djsa t ks fn,  x,  i z' u fp=k esa nh xbZ

Jà[ kyk ds l eku vkxs c<+krk gS A

i z' u fp=k

(1) (2)

(3) (4)

88. ; fn 7  1 = 64;

3  9 = 144

5  6 dk eku D; k gS \
(1) 22 (2) 55

(3) 66 (4) 121

89. l quhrk dk Ldwy cl  mÙkj dh vksj t krk gS t c ; g ml ds Ldwy
i gq¡prk gS A l quhrk ds ?kj l s i zkjaHk gksus ds ckn ; g nks ckj nk, ¡ eqM+rk
gS vkSj fi Qj Ldwy i gq¡pus l s i gys ck, ¡ eqM+rk gS A t c l quhrk ds
?kj ds l keus ; g cl  LVkWi  l s fudyrk gS rks cl  fdl  fn' kk esa eqM+k
gqvk gS\
(1) mÙkj (2) nf{k.k
(3) i wjc (4) i f' pe
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90. fn,  x,  v {kj dks o.kZekyk Øe esa l t k, ¡ vkSj t ks var esa vkrs gSa]
ml s fpfÉr djsa A
(1) Abandon (2) Actuate
(3) Accumulate (4) Acquit

91. , d O; fDr dks fn[ kkrs gq,  , d efgyk us dgk & bl dh ek¡] esjh
ek¡ dh bdykSrh csVh gS A efgyk ml  O; fDr l s dSl s l acaf/ r gS \
(1) ek¡ (2) csVh
(3) cgu (4) nknh

92. fn,  x,  v {kjksa dks vFkZi w.kZ Jà[ kyk esa l t k, ¡ vkSj uhps fn,  x,
fodYi ksa l s l cl s mfpr J¡̀[ kyk dks pqusa A
(a) dkVuk (b) O; at u
(c) l Ct h (d) ckt kj
(e) i dkuk
(1) (a), (b), (d), (e), (c) (2) (c), (b), (e), (a), (d)
(3) (d), (c), (a), (e), (b) (4) (e), (c), (b), (a), (d)

93. mÙkj ds : i  esa l cl s mfpr fodYi  pqusa &
fØdsV esa ges' kk gksrk gS &
(1) LVai (2) fi p (3) Xykso (4) cSV

94. pkj fp=k uhps fn,  x,  gSa ft l esa l s rhu dqN rjhds l s l eku gSa A
ml  fp=k dks pqusa t ks vU;  fp=k l s fHkUu gSa A

(1) (2)

(3) (4)

95. pkj fp=k uhps fn,  x,  gSa ft l esa l s rhu dqN rjhds l s l eku gSa A
ml  fp=k dks pqusa t ks vU;  fp=k l s fHkUu gSa A

(1) (2)

(3) (4)

90. Arrange the given words in alphabetical order
and tick the one that comes last.
(1) Abandon (2) Actuate
(3) Accumulate (4) Acquit

91. Pointing to a man, a woman said : "His mother
is the only daughter of my mother." How is the
woman related to the man ?
(1) Mother (2) Daughter
(3) Sister (4) Grand mother

92. Arrange the given words in a meaningful
sequence and then choose the most appropriate
sequence from amongst the alternatives provided
below.
(a) Cutting (b) Dish
(c) Vegetable (d) Market
(e) Cooking
(1) (a), (b), (d), (e), (c) (2) (c), (b), (e), (a), (d)
(3) (d), (c), (a), (e), (b) (4) (e), (c), (b), (a), (d)

93. Choose the best alternative as the answer.
Cricket always has
(1) Stumps (2) Pitch
(3) Glove (4) Bat

94. Given below are four figures out of which three
are alike in some manner. Find that figure
which differs from the rest of the figures.

(1) (2)

(3) (4)

95. Given below are four figures out of which three
are alike in some manner. Find that figure
which differs from the rest of the figures.

(1) (2)

(3) (4)



Space For Rough Work Class-VII/018

96. Study the given Venn diagram and answer the
following question.

Creative

Lethargic

Intelligent

2

4 5 6

1

7

3

Which number represent intelligent and
lethargic people who are not creative ?

(1) 4 (2) 5 (3) 6 (4) 7

97. The question consists of a set of three figures X,
Y and Z showing a sequence of folding of piece of
paper. Fig. (Z) shows the manner in which the
folded paper has been cut. Select from the options
a figure which would most closely resemble the
unfolded form of Fig. (Z).

(1) (2)

(3) (4)

98. Select a figure from amongst the options which
will continue the same series as established by
the problem figure.

Problem Figure

?

(1) (2) (3) (4)

96. fn,  x,  osu vkjs[ k dk vè; ; u djsa vkSj fuEufyf[ kr i z' u dk mÙkj
nsa A

jpukRed

vkyl h

Kkuh
2

4 5 6

1

7

3

dkSu l h l a[ ; k Kkuh vkSj vkyl h] t ks jpukRed ugha gS ml dks
n' kkZrs gSa \
(1) 4 (2) 5 (3) 6 (4) 7

97. bl  i z' u esa rhu fp=kksa dk l eqPp;  X, Y rFkk Z gS t ks dkxt  ds
VqdM+s dks rg djus ds Øe dks i znf' kZr djrk gS A fp=k Z ml
i z.kkyh dks n' kkZrk gS ft l esa eqM+s gq,  dkxt  dks dkVk x; k gSA
fodYi  l s ml  fp=k dks pqusa t ks fp=k Z ds [ kqys gq,  : i  dks l cl s
l gh : i  l s n' kkZrk gSA

(1) (2)

(3) (4)

98. fodYi ksa esa l s fp=k dks pqusa t ks i z' u fp=k }kjk cuk,  x,  Jà[ kyk
ds l eku vkxs c<+k, xk A

i z' u fp=k

?

(1) (2) (3) (4)
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99. Select the figure from the given four alternatives
which fits exactly into figure (X) to form a
complete square.

(X)

(1) (2)

(3) (4)

100. In a certain code, BELIEF is written as AFKKDI.
How is SELDOM written in that code ?
(1) RDKCNL (2) RFKENM
(3) TFKENP (4) RFKFNP

99. fn,  x,  pkj fodYi ksa esa l s ml  fp=k dks pquksa t ks fp=k (X) esa i w.kZ
: i  l s l ekfgr gks] rkfd , d i w.kZ oxZ cu t k,  A

(X)

(1) (2)

(3) (4)

100. fdl h l adsr esa] BELIEF dks AFKKDI ds : i  esa fy[ kk t krk gSA
bl  l adsr esa SELDOM dks dSl s fy[ kk t k, xk\
(1) RDKCNL (2) RFKENM

(3) TFKENP (4) RFKFNP
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